MittsTourbiére

Adult size.

Material :
needles or circular needles 3mm
1 stitch marker for circular needles

Pieces of contrasted wool for the version in the
straight needles.

A sew or tapestry needle.
Points and abbreviations :
st : stitch

K: knit

p : purl

*...." repeat from * to * .

sl : selvedge stitch : slip the first stitch of the row, knit the last one . Do this for every rows.
Ribs 2/2 (staight needles) :

Row 1 : *k2, p2*

Row 2 : *p2, k2*

Repeat these 2 rows.

Ribs 2/2 (circular needles) :

Round you need to repeat : *k2, p2*

Gauge : (stocking stitch, 2.5cm/2.5cm) : 8st/10 rows.

Useful technique for the circular knitting: Magic Loop


http://knitspirit.net/2009/03/la-technique-du-magic-loop-en-video.html

Mitts in the straight needles:

Cast on 50 st. Knit 3 cm in ribs 2/2, including at the beginning and at the end of every row 1 selvedge
stitch.Then :

Row 1(right side of the work) : 1sl, *k1, p1, k1, p5*1sl

Row 2 (wrong side of the work) and even rows until 16 include: knit stitches as they appear, and think
about the selvedge stitch at the beginning and at the end of each rows.

Row 3 : 1sl, k1, p1,* k5, p1, k1, p1*finish with k5, p1, 1sl

Row 5: 1sl k1, *p5, k1, p1, k1%, finish with p5, k1, p1, 1sl

Row 7 : 1sl *k5, p1, k1, p1,* 1sl

Row 9 : 1sl, p4, *k1, p1, k1, p5*, finish with k1, p1, k1, p1, 1sl
Row 11 : 1sl, k3, *p1, k1, p1, k5%, finish with p1, k1, p1, k2, 1sl
Row 13: 1sl, p2, *k1, p1, k1, p5*, finish with k1, p1, k1, p3, 1sl
Row 15: 1sl, k1, *p1, k1, p1, k5%, finish with p1, k1, p1, k4, 1sl
Repeat 4 times these 16 rows, then last time rows 1 - 8 include.

Mark,with contrasted wool ,the beginning of the first row and the row 15 of the 3rd repetition, what will
give you a mark to sew your mitt by leaving the space necessary for the passage of the thumb.

Finish by 6 rows of ribs 2/2, bind off your stitches flexibly.

Make the sewing, with the selvedge stitches, of your mitt, by using your marks to leave the passage of
the thumb.

Bring in the threads and cut them to short.

Make the second mitt in the same way.



Mitts in the circular needles:

Cast on 48 stitches, put the stitch marker. Knit 3 cm in ribs 2/2.
Then:

Round 1 and 2: *k1, p1, k1, p5*

Round 3 and 4: k1, p1,* k5, p1, k1, p1*finish with k5, p1

Round 5 and 6: k1, *p5, k1, p1, k1%, finish with p5, k1, p1
Round 7 and 8: *k5, p1, k1, p1,*

Round 9 and 10: p4, *k1, p1, k1, p5*, finish with k1, p1, k1, p1
Round 11 and 12: k3, *p1, k1, p1, k5% finish with p1, k1, p1, k2
Round 13 and 14: p2, *k1, p1, k1, p5%, finish with k1, p1, k1, p3
Round 15 and 16: k1, *p1, k1, p1, k5%, finish with p1, k1, p1, k4

Repeat twice these 16 rounds, then make 16 rows by knitting them as in the straight needles to leave
the passage of the thumb:

Row 1(right side of the work) : *k1, p1, k1, p5*

Row 2 (wrong side of the work) and even rows until 16 include

Row 3: k1, p1,” k5, p1, k1, p1*finish with k5, p1

Row 5: k1, *p5, k1, p1, k1%, finish with p5, k1, p1

Row 7 :*k5, p1, k1, p1,*

Row 9:p4, *k1, p1, k1, p5*, finish with k1, p1, k1, p1

Row 11 : k3, *p1, k1, p1, k5%, finish with p1, k1, p1, k2

Row 13:p2, *k1, p1, k1, p5*, finish with k1, p1, k1, p3

Row 15: k1, *p1, k1, p1, k5%, finish with p1, k1, p1, k4

Then make another repetition of 16 rounds by knitting in circular and make rounds from 1 to 8 included.

Then make 6 rounds of ribs 2/2 and bind off stitches flexibly.

Bring in the threads and cut them to short.

Make the second mitt in the same way.



